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This is according to 121 — K57 1217 %12 N7

OVERVIEW

The X3 cites a Xn>12 which states that the 7277 271 by a '2vw *10°a nyaw,
is when the person was unaware if he is 2’17 a 1277 when he swears falsely
(but he knew it is forbidden to swear falsely). This ruling, concludes the
X3, follows the view of 1217 that 3272 nNAw alone is sufficient to be 2nn a
]Jﬁp.z Our nMvo1n discusses the view of the 7127 (according to »2R).

— 9a¥WY M2 NYIAY MY INIYUN XY TaNNN »1D97 19299 YaN IV NIPa Y9
>'"w1 explained that according to the 3129, however, who argue with 121
and claim that 1277 N2 is not a 2 W, we cannot find a case of »»w by a

Sqapw® Mua nyaw -
—*NaY RYN S NIN 290 1IRT MY TINRT INSIYS 293 59209

And the 1a1n7 1121 will agree with »Xy»w> "1 who states in nwiaw noon
that there is no liability for a "10°2 n¥12w unless it is a 712w for the future.

ndOIN asks:
— *N2PY 539 1237 1929 NNT INIIY 135295 PHTHN %29 290 AUPM)

And 195K "7 asked ®Xmw '; we know that the 129 who argue with
T2, is P -

—7ry P99] MWW 9ayWH Yy NY1Na 29NN NPY 2N
And »'"9, in the third P75 of nmyaw noon, clearly obligates a j27p for a
"2pwh M2 NYAWY.

" A 12yw w2 ny1aw means if someone swore concerning something which took place already. He swears,
for instance, ‘I ate today’; when in fact he did not eat. If, when he took the oath, he mistakenly thought that
he did eat, then there can be no 7¥12w 2vn, for it is not considered 7¥12w2 0787 (when he took the oath, he
assumed he is swearing the truth [see 1R 7"7 >"w1]). Therefore he must be aware that he is swearing
falsely; on the other hand there must be some type of 73w to be 211 in a 127p. The &n>°72 (according to
121%) rules that even 27 N2 is a sufficient 72w to be 2°nn a 127p.

* This is followed by a bracketed x17mx X1w*> which refutes *»ax. However, *"w1 dismisses this X"5.

? See footnote # 1.

* bxyrw’ "7 maintains that a "v*2 MY is only for the future because the 105 of "™ NY1W (in 7,7 XIP™)
states, 2°0°7? W Y2 "N vawn *3, in the future tense (but not in the past). The 12137 1127 will agree with >
(only) because they maintain there can be no 32 by 12vw? "1°2 N2, only by ®27%. See previous 71"7 '01N
7v for an explanation what is the 3w of a X277 "2 ny1aw (which does not apply 12yw? 7y12wY).

3 In ¥9°0x 71"7 "o 2,19 MW he is referred to as X" YRR 2" (and YRMY 11°27 as the 2"awA).

6 See 1,nd where the X723 states 121 ¥ 12 K oY V' C1mo 17 1207 700 0.

7 See the m1wn on X,75 where ¥"9 argues with *" concerning a 12ywY 7v12W.
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mooIn discusses the second interpretation of >"'wA:
—@a,m9m ) P92 ’[myawa nom 09V P2 VYAV SanN PV

And in the third P92 of maw noon it is evident that we are to understand
this Xn» 12 as >'"'wA cites the X2 in the ‘other view’.
—92yYY %122 NIY INTIN 1IN 299 N9 N3 Ny 9INT
For the X713 states there; 829 asked 1" what is a case of a "w'2 n»aw for
the past which was performed a3, for which one is 21 a 127 -
— 0N T AMAWY IR YT 9INT 11N IYD 99N
1"7 answered X217; for instance if one said, ‘I know that it is forbidden to
violate this oath -
—IND ON 1297 1Y 192N ONX Y79 SN JAN

However I do not know if one is liable for a 329% or not if this oath is
violated’. This is a case of AWw32 12ywY w2 2w which is 21 a 127p -

— 1231139 )N PPY 75999
And the X773 challenges 1"7; are you ruling according to 13212, that there is a

127p 271 even for 127p N3 only?
— %995 13993 NNIY INY Y NI NNINN Y927 22 HY IN 1329 N1 1IN 53U

And the X3 answered; you can say that this ruling of 1297 naxw by nyaw
"2ywY M1 is even according to the j129, for even though in the entire

710 the 1227 do not subscribe to 329P naz, etc. but here by "2 nyaw since
there is a w17°n that there is a 1297 2vn for (only) a > (without n12), therefore the 3127
agree that by "10°2 N¥12W we maintain that 127 DAY is a 7AW

mooIn responds to s™"w refutation of the X1™INR Xw°Y:
— MNVOW AN DIVIPA NYPAY NI

And regarding this which s"w= asks, ‘why is the Xn>72 obvious’ (if it is
according to 12111)? *"wA explains why the teaching of the Xn>72 is not obvious (even

according to 1211) -
— 00 MW IND NON NNY N NNYYAT 23 Y GN 19 ¥NYN NP NN

For this is what the Xn>72 is teaching us that even though generally a

¥ In our text in the X3 there is an enclosed addendum beginning with X nK X3 until Xnarn. w1 cites
this X071 in the *11 87 7"7 and rejects it. T1"9R 7" however maintains that this is the correct o7,

? The bracketed insert is added by the 2" ,2"w 7 and X"wamn.

' The xm3 concludes there as our X723 says in the X"17 (according to »ax) on the 'X 71y 710 and as assumed
by the X723 which is bracketed here on the 2 T1y.

"' In the X" the X3 says that the Xn> 2 (which considers 129p N3w a 73aw) cannot be according to 1amm,
for it is obvious that according to 721 a 127p N is a Y as the X1 explains.

125"y argues that the X2 is not teaching us that 129p N is a 73w, but rather that by 22vw? “12 nyaw,
a XY NI is not a 73w since it violates mY12W1 DTN
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WY N is a A, however here by 102 7312w a X2 N is not considered

a e -
— 19593 NMAWa DIRNT OIUN

since there is the requirement of 7¥12w3a 27N, Therefore the X2 can be
according to 1217 and there is no Xv’wd and no refutation of »2aX. This concludes s""wA

question. Mo0N argues that this question -
— DINY V9 NAYWA DTINN NITNI 2IND TPIVNIN NN DIYN INT NN NIV IND

Is not a challenge to the question of Xv*wd, for if (as °"w7 maintains) that it
i1s not Xv’wd because the Xn»72 wants to teach me this (restricting) ruling
that there is no W7 naw, the Xn>92 should have taught us clearly that since

there is the law of myawa a7N7, it excludes a case of ©uR, that would be

sufficient to teach us that there can be no 1R? NawW -
— M NNYY 19¥NYNY RNN 1297 NIYT YU XN

However, since the Xn>>72 did not mention 7¥12w31 0787, but rather taught us
1277 naw, this indicates that the Xn>72 is coming to teach us that naxw

129p is considered a MW, therefore the X3 rightfully asks that it is obvious that
according to 1213 a 127p DA is a 7AW especially by 12ayw? "2 nyaw where it is a w7,

mooIn anticipates a difficulty:
— Pmgav PN AN 7991 9811 NN NI TN INDAT NYP 1N

However, there is a difficulty, for even without this Xn>92 (of nuw WX
491 72vwH Mwea nnaw), the X3 could have refuted 28 from the mw» in

MR Noon -
—INDA 911 19 ON NIN NY NNOWN KDY 9ayYH V2 NWAY XIYPY %39 29NNT

Where »''2 holds one liable for a 7277 if he violated a =2pw® "2 nyaw,
and we canneot find a case of 12ywH "2 nY12w that he should be 2°°17 a 127p

unless he was aware of the X% (for if he was not aware of the %> he cannot be
considered 7¥12w31 07XT); so it must be through 1279 naw. Why did the X723 challenge »ax
from a ¥n>12 when it should have refuted »aX from a 7wn?!

moon offers an alternate view:
— PNV NNY IND 139D MIYT 139D aswnw YNINY 1929 Y1999 AN 19 9y

" There is no 7v1awa 0787 if when he made the oath he did not realize that he is swearing falsely or does
not realize that it is forbidden to violate an oath. See 171K 11"7 "1 (and 7¥ 71"7 NDOIN on K,1D).

14 According to the w170 of X"177, we are 0713 the X"? and »ax is refuted.

'3 See footnote # 7.

' See ni"2:7 Mt who amends this to read 21 32797 "7 2WAw (referring to Ty*9X 7"7 in the beginning of
this Mo who posed the question to PXmw ™).
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Therefore n1201n prefers the explanation of the @w''% who replied [to R''9,
that] according to the 3129, who maintain that 3397 na» is not considered
a maw,” it is still possible —

— 0NN AMAVY PTOY 11N 93U VA NWIAY HNY HNIYN
To find a case of mayw® w2 nyaw naxw (and it should be a W7 naw and it
will be 7y12w2 o7X7); for instance the person knows that it is forbidden to

violate this nyiaw -
— By 99998 712 YWIY 9910 YAN INY 12 WIY ¥ 1N YAN

However he does not know that one transgresses a W» by violating the

72w, rather he assumes that there is only the prohibition of an mwy if

one violates a 3¥2W -
— Yy 123¥2 NPV OTRN 99V XYM

And in such a case he will be considered 7¥12wa 2787 (and not an D1IX) since
he knew it is forbidden to violate such a 7312w; he will be 217 a 127 because he was 2w
1X92; he was unaware that there is a 5.

mooIn proves his point that 7¥12w32 o787 excludes only cases where the person assumes he

is doing nothing wrong, but not when he is only unaware that there is a WX?:
— (ow) MV NI 1

And this is evident in N2 noon -
— Oyay HHNAY DAY NYYA 909 NIN DYNN XY AMAYa DINDNT

That from n123wa 2787 we only exclude cases where at the time he swore

he assumed that he is swearing the truth where the X3 gives the example -
— 5915 29 9N 9907 YANWN 01 291 3105 9

For instance the students of 29, where one student would swear this is
what 29 said, etc. and the other would swear that 27 maintained the opposite -

"7 This is the view of »2X in our X723

'8 He assumed he would be transgressing the 7wy of "3 prn Ipw 1277 (see 0"'NM). See X NMIX PRI NN

' Therefore the X113 could not have challenged *»2x (who maintains that W5 naw is required) from the view
of ¥ (who is 211 a 1277 for a 72YWY "W nYAw), because he was not 1272 AW, but rather 872 AW (and
7wya 717). See “Thinking it over’.

%0 See X"wam that Moo means that he is not transgressing any 10°X. See however 2" that even if he is
unaware of any 70°X but knows that he is swearing falsely, he is not excluded from #vaw2a O7X7. See
footnote # 22. According to the 2"mn this answer is distinct from the answer of 2Xmw . See o"nn.

! The xma relates in X,)2 My12w that X375 21 would swear that 27 ruled one way and *ox 21 would swear
that 17 ruled differently; when 27 supported the one, the other asked did I swear in vain and 27 answered,
no, because 701X 727 (and you are excluded from XW ny12w because of 7¥12W2 DTXR).

2 The 277 >7n%n assumed that they are swearing the truth; therefore the exclusion of m¥awa oA applies.
However, by 123w "u»a ny1aw (even though he is not aware of the > [or even of the 7wy (according to the
q"mn)]), he is nevertheless aware that he is swearing falsely; he is not excluded from 7¥12w2a Q7X7.
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—IND 1959 19290 BN P15 19N S5NY 1% 1IN 133991 NN 1AM 3 NN 95N
Therefore we are correct in assuming that this X191 is according to 12112,
for according to the 3129, the Xn™12 should have stated; ‘and I do not
know if there is a liability of a w>%’. **

Moo concludes:
DPANTN NIITO 119N 291 XA 193919 NYAT MMAYT NI
However that X713 in myiaw noon, where 829 asked y2m1 29, argues on

AN and maintains that even according to the 7127 there is a 17272 21 by a "2 nNAw
72vws for a J27p DAY,

SUMMARY

"w7 maintains that according to the 12177 7127 there is no 127 for nY1AW
"2vwH M. According to T19K 1"71 there is a 127 by 123w5 M2 naw if it
was J27p naw, since MK is refuted, from the Xn>72. According to "1 there
can be a 127p if he was aware of the 7wy and 1872 2w (according to 2R and
according to 1" (even) if 12772 2W).

THINKING IT OVER

moon explains that according to the 13127 there can be a W% naw and still be
considered nv1awa 0787 if he knew there is an mwy.> Previously*® noomn
asked why do we not say mwva 7% v7°7. The fact the X3 did not accept this,
indicates that a 7wy ny>7 is the equivalent of W7 ny>7> and he would not be a
M w; why does mpoIn insist here that it would be a A even if there was a
7y of the nwy?!”

2 The ‘therefore’ means, since we can find a X% DAY even by 12yw? 1w nyaw.

** [See o>now pnn that according to YXmw "1 we do not accept the X" and as *"w1 asks that it is not Xows if
the Xn»12 is according to 121, since the Xn>>12 informs us that there is no W? NAw by 72vw? "M, And as
to what N0 asked that the ®n>92 should have mentioned 1¥y1awa 07X, the answer is because if the Xn»92
would have said 712w 0787 we may have thought if he knew the nwy it is 7¥12w2 07R77 even if it was a
XY Nxw, therefore the Xn»12 teaches that a W2 N is not 7¥12Ww32 07X, it can only be 27p naw, however he
needs to be 18H2 77177 to consider him 7v12wa o8]

3 See footnote # 19.

26 9977 7"7 'O X, V0.

7 See i K.

5

TosfosInEnglish.com



